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; Grey line: exponential fit Peak flux: 4.232+/- 0.032 c/s/cm’ ;
- plack Ihe: power law * gauss it Fluence : 38.56+/- 0.28 clem’ .
- P Duration : 18.90+/- 1.02s n
- Best fit model: 2. _
= Best fluence model: 2. -
- Best duration model: 2. N
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; Exponential fit é
=  Expon.time: 5.91+/- 0.06 s (chi*red= 7.44) 3
E + 3
= | fo E
= w Wwﬁ*HTHHW T * =
SRR LR TR TR } AT E
= At b i bt oty +
= Pl 1 / HEREIR  t *ﬁﬂ**ﬁﬁﬁiﬂﬁﬁﬁﬁ%ﬂﬁw*ﬂﬁﬂﬂﬂjﬂmﬁﬂﬂiﬂ+*+ﬁﬂﬂmﬁﬁﬁﬁﬁﬁg
- W -
= J( -
I J( —
; Power law fit é
= Power law index: -2.067+/- 0.012 (chi’-red= 1.44) 3
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— Power law fit plus Gaussian (st.dev.= 64.48+/- 7.15 s, fracgs= 0.04+/- 0.00) =
- Power law index: -2.176+/- 0.022 (chi*-red= 1.28) 7
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